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sXozs 53 180,000 180,000
= 126,000
= 54,000
101 2124 d| 180,000 180,000
= 126,000
= 54,000
24 180,000 180,000
OAgl X0 s 30,000,000& * 6Y 180,000
= 126,000
= 54,000
=28 (HAE W) 196,794 0
Jl2Ad (™) 196,794 0
201 L2yl 51,514 0
AP 22| Hl 51,514 0
Ogbt=2H| 26,170,000& 26,170
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SN BHD
HH: HHSYBU (BT
SERPIEETTIET D)

SA BB O () - MM - HES 0l &+ o4 il
O=2gtl 6,000& * 11 = 3298 » 12& 25,344
202 odl 19,200 19,200
01 S LHOHI 19,200 19,200
OJlggexd 50,000& = 32% = 123 19,200
203 H R =&l 112,280 112,280
01 J|22F P2 =8| 89,100 89, 100
Oz=(2Jtz2) 52,800,000 52,800
o=+ (Jtz) 36,300,000& 36,300
02 ZRIaHRF=XH| 18,860 18,860
OFRAIMeE 2 =& H| 18,860
— 100Z Nt X 80,000& = 1009 8,000
—101~300% 60,000& = 1819 10,860
04 NI FTH 4,320 4,320
ORAN2EIRFEHI 4,320
— 302! 0l 6t 350,000& = 12& 4,200
— 302101 & 5,000& * 2H » 12& 120
204 MR =HAH| 13,800 13,800
01 HESHPH A 13,800 13,800
Oz 650,000& = 12& 7,800
ofzZ=+ 400,000 = 12& 4,800
Ob= 100,000& = 12& 1,200
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